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IRVAN S U2 s B 3 /M 6/ 7 4§. 18 65%
3%
2 HTF D VAt AR: H SF N 1/ 3 4;.91 3tk
3%
3 M EE Vi AEEHSE L 3/ 8 52.35
4 AR i fEIR S S /M 2/ 3 52.97
5 f D v— MR /N 1/ 7 58. 30
6 i IS S N1/ 9 58.79
No.5 Z+F 50m BHE# BALL—R R
L INFE2HE >
B K& 4 ir B 2E KE B FE
1 /NI 3k Iy s A==n IN2 8/ 9 41. 51 Tk
2 Hi &R ot A7) IN2 6/ 8 45.12 5%
3 Kl T k4SS /N2 6/ 3 45. 14 5k
4 QRS b JSSHJI /N2 5/10 45. 24 5%
5 B FE VASZE - JE:= /N2 6/ 4 45. 37 5k
6 BRIL St ZHESC /N2 6/ 6 45.77 45
T AR WA JSSHJI /N2 5/ 1 46. 29 45
8 LLiE i Y A4SS /N2 4/ 2 47.00 4%
9 HWH XX FRIRS S /N2 2/ T 48.13 3%
10 ByL Hif RS C /N2 4/ 1 48. 88 2%k
11 28 &R WS A7 N /N2 3/ 5 45. 77 2%
3%
12 1Ak HF WA AN % /N2 3/ 3 5£1 24 1%
3%
13 F T FGIRS S /N2 1/ 2 92.03
14 BJFIZ D H A SS /N2 4/ 8 52. 61
15 B Z5P S S /N2 3/ 4 sg. 07
3%
16 1A ZFEEK A SS /N2 2/ 9 55.57
17 }E B kS S /N2 1/ 5 552' 37
3%
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IBEH. K 4 ir B 2E KE B
1 435 BTy ISZE J=F = NS 14/ 2 34.53 84k
2 B RRHE 7S sHJl /N3 12/ 3 36. 63 TH%
3 ALk Ak A4 b~k /N3 9/ 1 38. 41 6%
4 HINHEAT J S SHJI /N3 9/ 8 38.45 6
5 Gk J S SHiJi /N3 10/ 2 39.38 Stk
6 FE  FH Y ASS /N3 9/ 5 39. 67 8%
T RAR S FR ISeZ =it /N3 9/ 2 40. 59 5%
8 H)Il AR F#HS S /N3 8/ 3 3451.60 %
9 iy HAR FEIRS S /N3 6/10 41.90 45,
10 [ HhFl JSSHJI /N3 7/ 4 42.16 Tk
11 (L M JSSHJI /N3 8/10 42.20 Tk
12 HH HE Y A4SS /N3 7/ 6 42.32 45
13 FEHERE VAR B S /N3 7/ 5 42.59 6%
14 KH H3X Y4 SS /N3 9/ 7 42. 68 6%
15 #3: Z=md A FEEH /N3 7/ 3 42.76 65%
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18 B E L+ ESMYN /N3 5/ 7 4§. 95 6tk
3%
19 £ F #HBE 4EES C /N3 5/ 3 44. 01 6%
20 #H: i HHS C /N3 4/ 9 44. 45 5k
21 B BT A b= HR NS 5/ 5 44. 51 2%
22 I'E~=3Y7 EH¥ALSS /N3 7/ 1 45. 24 5%
23 )l FEE RS S /N3 6/ 5 46. 11 43t
24 fhRAY SR fEIR S S /N3 4/ 5 49. 99
25 AR KFE =P ¥ ] /N3 3/ 7 50. 90 1%
26 A BEZE My A A LE4 /183 3/ 9 51.19 Ltk
27 At b % =PANZ e A /N3 3/ 6 54. 64 *FE)
28 HI R JSSHJI /N3 4/ 7 56. 35
29 HH  KFH] FEIR S S /N3 2/ 4 1:04.16
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L INFAFE >
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1 RIS H S A b~k M 14/ 6 34.08 9k
3k
2 K Eg vty A B S N 12/10 34.93 Tk
3 EHO 3 A b~k 4 13/ 9 35.15 %
4 LR HESR YA SS /N 12/ 5 36. 06 Tk
b IR iR ViR S A 11/ 9 36. 14 Tk
6 = IR ASZ3EES 11/ 1 37.28 Tk
T % BEA Ik S S /N 11/10 37.76 6%
8 ZHH TR vy N —4t /N 10/ 9 3§. 03 6tk
3%
9 HARK FfnE mHSC /N4 9/10 38. 64 45k
10 [Ligs  FHiE WAt A7 NI /N4 9/ 3 39.49 45%
11 [UHE  SEE Wty AN /N4 9/ 4 39. 71 5#%
12 V8 o) Y A4SS ! 5/ 6 40. 92 45
13 M B5sE FBIRS S /g 8/ 2 41.06 2%
14 FUEBREALAS My A A LKA /)M 8/ 6 41.38 45%
15 &)1 03 A b~k /M 8/ 4 41. 41 4%
16 =hp YA vty A B S5 /N 4/ 4 42.18 45%
17 % 2 Hi] Y% 4SS /N4 7/ 2 42.52 3tk
18 ZH EaK JSSHJI ! 5/ 4 43. 25 3%
19 AR SVH SN 3 ! 8/ 1 43. 63 3tk
3 %
20 )IA B KB My AA L84 /M 7/10 45. 11 24%
21 [hH EER T AT 4 /N4 6/ 1 45. 55 2%
3k
22 FIRWLIYE T AT 4 /N4 4/ 3 46. 05 1%
3k
23 At F&JTY HHS C /N4 3/10 49. 51
3k
24 Bl B T AT 4 /N4 2/ 8 50. 50
3 K
25 SEH A GRS S /N 1/ 4 50. 55
26 Kfdpd 7 FEIR S S ! 2/ 6 53.58
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3 W HEA NPOMGm#E /N5 14/10 33.04 Tk
4 BfH EHE Brlp Ll S'S /N5 15/ 4 33.13 8k
5 KFf & T AT 4 /N5 15/ 2 3§. 86 Sk
3%
6 AR P v HH /NG 14/ 9 33.88 8k
7 b D Ayl /N5 13/10 34.39 Tk
8 SFIR FuR RS C /N5 12/ 8 35.38 Tk
9 BKH HFHZE mHSC /N5 10/ 5 35.75 6%
10 &  Ear =PAS: 4] N5 11/ 4 36. 25 6%
11 g%y FiR = PAR i /N5 11/ 8 36. 46 4%
12 KH &3 B A4S S /NG 12/ 4 37.15 4%
13 - WE X HESC /N5 10/ 8 37.29 5%
14 7 L= YA SS /N5 12/ 9 37.58 5k
15 JEM R H WAty As NI /N5 10/ 6 39. 27 45k
16 &% ey Y A4SS /N5 10/ 3 40. 21 35k
17 5% B WAYEE! /NG 5/ 2 4£. 95 1%
3%
18 kKp Hi mHSC /INB 8/ 7 4}1.03 1k
3%
19 [l L T AT 4 /NG 6/ 2 4@1.96 2%
3%
20 #efA Ao A b~ HR /b 8/ 5 42. 64 1%
21 REMBHLZ My A A L4 /N5 6/ 9 43. 01 1%

Y A4SS /NG 7/ 8 44.17
My A A LA /)5 7/ T 44. 23

22 #ZiE A
23 A HfE

24 B HEE JSSHJI /NG 7/ 9 44. 25
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3%
26 B Kk GRS S /N5 2/ 5 55. 65
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1 EHE i B rs e /N6 17/ 6 30.53 Otk
2 10 Jx X 2x FBIRS S /N6 18/ 7 30. 67 9tk
3 ZEM METE J S SsHi /N6 17/ 9 30. 96 9k
4 LREFETHAE JSSsHJI N6 1T/ T 31.03 8k
5 AHOVED J S S /N6 17/ 2 31.05 9%
6 FEB)IHE 4lES C /N6 17/10 31.16 9K
7 E/)N EF /b h—4t /N6 16/ 5 31. 42 8%
8 #E HFE vty A B S5 /N6 16/ 2 31.44 8%
9 &R v—FEAF /6 18/ 1 31.66 Sk
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11 5 K& R U NEE /N6 16/ 4 31.93 Sk
12 B9 w5 2SS e /N6 16/ 9 32.00 8k
13 7% HmE TN —%t /N6 17/ 4 32.44 %
14 Kk FIE WS C /N6 13/ 6 32.49 8k
15 /MR 5L GRS S /N6 16/ 1 32.87 65%
16 B X4b VASZ - JEF == /N6 14/ 1 32.88 6%
WA/ Y4 SS /N6 13/ 5 33. 11 %
18 L8 Ak v—hFRAF /6 14/ 5 33.33 %
19 Sy R v— MR /N6 15/10 33.58 Tk
20 HH SfE Bl S S /N6 14/ 8 33.65 6%
21 HR AW Y A4SS /N6 13/ 4 33.69 6%
22 MR e NPOMOims&% /6 14/ 3 34.13 6%
23 AH Ft HSC /N6 15/ 8 34.22 5%
24 Ve SE Ayl /N6 13/ 8 34.54 6%
25 A ERH RS S N6 12/ 1 34.83 6%
26 %k &R%E T/ h—4t N6 13/ 1 35. 22 5%
3%
27 SHFEEN XHESC N6 12/ 7 35.54 45
28 A dTHR B S MYN /N6 11/ 2 35.58 5k
29 RRI)INnW-oZ Y4 SS /N6 12/ 6 35.73 5%
30 BRI E A 23028 NEI: N6 12/ 2 35.75 4%
31 T A Y A4SS /N6 11/ 5 36. 23 5%
32 $Ebth FGIRS S N6 10/ T 36. 54 4%
33 MM A% VS N6 11/ T 3%{2. 73 3ith
34 e =T My A A LH4 /N6 10/10 42. 34
35 & &x T AT 4 N6 4/ 6 4; 89
3%
36 A FH T AT 4 NG 4/10 48. 28
3 %
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1 HE EE A "<k 1L 19/ 8 29. 31 ok
2 4 Fi FRIRS S 1 18/ 5 29.38 9%
3 HE #EA J S SHl Rl 19/ 2 29. 43 9k
4 EH A A ~~=rFk HH1 18/ 6 29.72 9%k
5 [hH  Jh¥E A b~rHA 1 19/ 3 30.07 9%
6 &I HBP A4 h~29R F1 18/ 4 30. 08 ok
7T UTHE R SR 119/ 9 30. 38 8#k
8 W WAy =P AN F1 17/ 8 30.76 Sk
9 ZEERE )Y 7rhAH I 1l 18/ 9 30. 80 Tk
10 [UHAFE L1 SS 1 16/ 6 32.08 6%
11 KEE  Z4E FRIRS S 1 15/ 9 32.30 Ttk
12 ATz J S SHJI 1 14/ 7 33.36 6%
13 BEH T+ LIRS C 1l 13/ 2 34.75 5k
14 Z:H M AN =N 1 11/ 6 36. 58 2%
15 /NI S4B T AT 4 1 9/ 9 40. 97
3 %
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4 WBE IEF ASEZI=Fir 3 19/ 4 29. 87 TH%
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14 7' RS IAYE 3t 3 13/ 3 3%\?. 20 4%
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